DeWalt

Parts Bulletin

No.'7730‘10” Radial Arm Saw
Cat.Nos.7730/3411
Type 1



UNIT IDENTIFICATION

MODEL NO.
7730/3411
7730-01
7730-03/3411-03
7730-04/3411-04
7730-06/3411-06
7730-08/3411-08

10" RADIAL ARM SAWS

Type 1l
Type 1
Type 1
Type 1
Type 1
Typel

VOLTAGE
120V 60 cy.
220V 50 cy.
220V 50 cy.
240V 50 cy.
120V 50/60 cy.
100V 50/60 cy.

O T e

ph.

ph.
ph.
ph.
ph.
ph.

Base, Column & Elevating Screw

Identification

00 NO O AW =

10
12
13
14
15
16
17

19
20
21
22

23
24

Description

Column

Base

Jam Nut (5/16-18)
Drive Screw (7 x5/16)

Flat Pt. Set Screw (14-20 x 114"

Hex Nut (14-20)

Hex Hd. Cap Screw
(5/16-18 x 2-1/2")

Hex Hd. Cap Screw
(3%-16x114")

Hex Nut (34-16)

Screw (34-16 x 34")

Lockwasher (¥4")

Spacer Ring

Bracket (Includes 16)

Lock Washer

Bracket Bushing

Pan Hd. Mach. Screw

(Y4-20 x 2") (Phillips)

Elevating Mechanism
Thrust Cap (Incls. 4, 21)
Miter Scale

Elev. Arm Assy.
(Incls. 23)

Cup Pt. Set Scr. (Y4-20 x 15")

Hex Nut

Quantity Part No.

[y

N

=N = =N DS

—_ == N

N =

NN =N =

81232
121372
81956
82280

80935
83944

72382

82105
83722
82098
84173
81226
96663
82510
81270

99278-32
81233-06
86518-01
203602

71917
80648
81986




Identification

1

12
13
14
15
18
19
20

21
22

Description

Rip Scale (Cat. Nos. 7730,
3411,7730-03,3411-03,
7730-06, 3411-06, 7730-08,
3411-08)

Rip Scale (Cat. No. 7730-01,
7730-04,3411-04)

Arm Shroud

Left Hand Hex Nut
Ext. Lock Washer
Wrench Clip
Washer

Miter Lever

Jam Nut (5/16-18)

Soc. Hd. Cap Screw
(5/16-18 x 11/4")

b

Cup Pt.Set Screw (1/4-20 X 1/4") 2

Set Screw Slug
Control Handle
Handle Grip
Miter Pointer
Pointer Screw

Cord & Plug (Incls. 21,22)

(Cat. Nos. 7730-01, 7730-03/
3411-03)

(Cat. Nos. 7730-04/3411-04)
(Cat. Nos. 7730/3411,7730-06/
3411-06,7730-08/3411-08)

Spade Connectors
Lead Terminal

Quantity Part Mo.

121713

121713-01
81241-05
81965
82524
81254
81253
81252
80467

82172
82387
103522
81251
80066
203597-03
80488

121452
121449-01
81373

80201
34289

Identification

25
26
27
29
30
31

32
33

34
35
36
37
38
39
40
41
42
43
44

45
46
47

Description

Arm

Escutcheon Plate L.S.
Miter Adj. Screw
Miter Latch & Pin
Miter Latch Spring

Pan Hd. Thd. forming Screw
(6-32 X 1/4") (Phillips)

External Lockwasher (#8)

Pan. Hd. Taptite Screw
(8-32 x3/8")

Switch

Switch Slide Lock

Switch Support & Stop

Self Tap Screw (6-32 X 3/8")
Arm End Cap

Bumper

Key

Switch Button(Black)

Switch Button (Red)
External Lockwasher (#10)

Fill Hd. Mach. Screw (10-24 X
1-1/2") (Phillips)

Cross Brace
Screw Self Tap (6-32 X 5/16)

Fill Hd. Mach. Screw (10-24 x
1-1/2") (Phillips)

Quantity F

e

= ©o

W = = = N R N e = e

N

81
12
83
96
81

80
33

80
20
20
20
83
80
12
85
81
81
82

80
81
82

99



Identification Description

Table Top & Table Frame

Quantity Part No.

1 Table Frame 1 66312-03
2  Guide Fence 1 *96615-01
3  Back Board 1 96615
4  Thumb Screw 2 80455
5 Eyelet 2 80050
6 L. H. Cleat 1 72091-01
7  Hex Nut (34-16) 4 84180
8  Flat Washer (35") 4 80674
9  Lockwasher (34") 4 82510
11 Bracket 2 72086
12 Sq. Hd. Mach. Bolt (35-16 x 34") 4 81911
13 Machine Name Plate 1 96942
14 Drive Screw (#4 x 3/16") 4 12122
15 R. H. Cleat 1 72091
16 Fixed Table Board 1 96616
*Replacement Guide Fence may be made from Standard 1" x 2" 18 Table Screws 6 201287
Lumber.
No. 99056-03 3/32” Hex Wrench
PARTS NOT SHOWN No. 83104 12" Hex Wrench
No. 99056-11 4" Hex Wrench

ASSEMBLY OF LOWER
GUARD TO UPPER GUARD

1. Hang outer ring (13) on bosses located on upper guard
and mount two guard retainers (14) using two self-
tapping screws (15) into pre-drilled holes on outer side
of guard. Tighten screws to seat support washers.

2. Hang inner ring (13) on bosses located on guard and
mount two guard retainers (14) using one self-tapping
screw (15) and one thumb screw (16) on inner side
of guard. Thumb screw to be used in boss nearest
to kickback assembly. Tighten screw and thumb screw
to seat support washers.

NOTE: It is not necessary to remove guard and blade
from motor to remove or re-install the ring. To
change blades remove thumb screw and washer by
hand and the inner ring is easily removed. The upper
guard with outer ring can be removed allowing blade
to be changed.

*Some units are built with 2 of these guard retainers (117806) and 5 screws(item 15), in place of four
96621 guard retainers and 3 screws.

GUARD ASSEMBLY

Part Part
Identification Description Quantity No. Identification Description Quantity No.
1 Guard (Inciudes 4, 11 & 12) 1 20327207 10  Saw Blade (10" Combination Chisel Tooth) 1  R1041
2 Wing Nut 1 70474 11 Name Plate 1 121708
3 Dust Spout 1 80466 12 Guard Clip 1 201404
4 Caution Plate 1 80126 13 Lower Guard 2 96622
5 Kickback Assembly 1 70477-02 *14  Guard Retainers 4 96621
7 Kickback Clamp 1 8008501 *15 10-24 x 3% RH Self-Tap Screw 3 34638
8  Shim Washer 1 80457 16 10-24 x 38 Thumb Screw 1 96692
9 Hex Jam Nut (5/16-18) 1 80467 17 Wrench 1 8013701
18  Allen Wrench (5/16 Hex) 1 80138




r

Rollerhead Assembly

Identification

Description

Rollerhead

Hex Hd. Cap Screw (34-16 x 1”)

Bearing

Bearing Shaft (Eccentric)

Drive Screw (#6 x 33)

Bumper

King Bolt

Pointer (Out-Rip) (In-Rip)

Pan Hd. Taptite Screw
(#6 x 14")

Rip Lock Knob

Rip Lock Slug

Rip Lock

Hex Nut (%15-24)

Lock Washer (%)

Quantity Part No.

1

2
4
2
1
1
1
1

NN == =N

81331-02
82102
81004
80461
82229
80525
70475

121718

80488
81368
81333
81332
80470
84319

Identification

N HWNER

Description
Yoke (Includes 4 & 38)
Index Pin

Latch Spring

Locating Bushing

Cup Spring

Index Cam Cup

Washer
Snap Ring

Yoke Assembly

Identlification

9

10
11
12
13
14
15
16
17

i8
19

Quantity Part No.

At bt bl el ek et fed

81378-04 30
81341 31
81324 32
81340 33
81342

81337 —
39645 38

Description

Adjuster

Yoke Clamp

Handle Grip

Bevel Clamp Bushing

Bevel Clamp Handle

Handle Grip

Pivot Pin

Set Screw Slug

Hol. Hd. Cup Pt. Set Screw
(%-20 x 1%4")

Medallion Pointer

Pan Hd. Taptite Screw
(8 x 14") (Phillips)

Bevel Scale

Bevel Latch Spring

Roll Pin (32 x 35")

Release Pin

Washer

Bevel Clamp Screw

Trunnion Bushing

Support Screw

Hex Nut (#10-24)

Soc. Cup Pt. Set Screw
(10-24 x 1")

Dial Plate

Dial Plate Hub

Hub Washer

Soc. Hd. Cap Screw
(5/15'18 X 11/4")

Spec. Screw

Bushing

Quantity Part No.

(=]

1
1
1
1
1
1
1

-

W 2 et bt b e bl s 2 NS

- = W

N

80464
203751
80066
71727
81345
81366-01
81357
103522

82387
96947

80487
81356
80828
38454
81323
81358
81208
70476
203111
81953

80652
81344
81361
80969

82172
81014

81354




W

MOTOR WIRING

Identification

(=

== O NG RWN

[ =]

12
13
15
16
17
18
19
20
21
22
23
25

(°
o R
@!@}o

IXE

Description

Nut (Arbor)

Collar (Arbor)

Spacer

Rd. Hd. Screw (10-24 x 14,")

Cover Plate

Ball Bearing (Arbor)

Tie Rod

Guard Stud

Front Motor Housing

Stator (120v 60 cy 1 PH)
(240v 50 cy 1 PH)
(220v 50 cy 1 PH)
(120v 50/60 cy 1 PH)
(120v 50 cy 1 PH)
(100v 50/60 cy 1 PH)

Rotor

Fan

Rd. Hd. Screw (6-32 x 33")

Brake

Brake Push Button

Dowel Pin

Rear Motor Housing (incl. 39)

Lockwasher (#8)

Hex Nut (8-32)

Load Spring

Rear Cover Plate

Rd. Hd. Taptite Screw (8-32 x

2")

Quantity Part No.

o B B R N N R R e b e b et b e = SN 00 e N e

N

80109
80465
80105
80162
80104
80110
80423
539007
72190
80413-51
80413-47
80413-48
80413-61
80413-41
80413-60
80431
66141
5533
80434
70478
80424
80411-02
36700
407
99082-02
80417

80440

1 PH

Motor Assemblies

Part No.
7730/3411 70589-51 120v 60 cy
7730-01 70589-48 220v 50 cy
7730-03/3411-03 70589-48  220v 50 cy
7730-04/3411-04 70589-47  240v 50 cy
7730-06/3411-06 70589-61 120v 50/60 cy
7730-08/3411-08 70589-60 100v 50/60 cy

(Includes |

Identification

26

27
29
30

41
Parts N

tems 4 through 41)

Description
Overload Protectors, 1 PH
(120v 60 cy &

120v 50 cy,

120v 50/60 cy)
(220v 50 cy &

240v 50 cy)
(100v 50/60 cy)

Felt Washer
Rubber Plug
Rd. Hd. Taptite Screw (8-32 x
%)
Relay
(120v 60 cy 1 PH) (120v 50/
60 cy 1 PH) (120v 50 cy
1 PH) (100V 50/60 Cy)

(220v 50 cy 1 PH & 240v 50 cy

1 PH)

Wire Connector
External Washer (#6)
Hex Nut
Motor Cable (Includes 35 and

36)
Spade Connector
Lead Terminals
Cable Bushing
External Washer (#8)
Specification Plate
Jumper Lead & Connector
ot Shown

Connection Diagram 1

i

w N

1
1
1
2
2
1
2
2
1
1
1
1

80432

Quantity Part No.

70572

70572-01
70572-02

545012
33055

55206

71732

71732.01
46629
36521
12226

70649-01
80201
34289
33305
33985
96941-01
80427




9T "AOS2=05]

0
SONIANIM 'A 221
A,Z.W)O,Ttm SDINIANIM A OP2 5 ©22) @ G ._woo_/v =
NOLOE @ =)
_ll B — HDV G 5 O
- ‘Sam
»cﬁm.‘ltwkm/l.vl _ RESLALS
£ |
A ONMd A<21- 09l
woutg _ 6
e EERY Iy
.w ?uﬂﬂ.g# \.\\ _
f
i

: _ ‘5aM NTiA TLIHM

WaAM NOoy
Ham LayiS

A0ON 33 1m & 3NvYRA
QL anes

80432 CONNECTION DIAGRAM




FACTORY SALES and SERVICECENTERS

Area Telephone
Code o,

ALABAMA: Blrminghan 35208, 2412 Green Springs Highway . ..205 942058 MISSOUR: Kanaas City 64111, 326 Main St 531
Mobile 36608, 3831 Airpor! Boulevard 205 3436626 Kansas City 54111, 4324 Main 5. (ales only) &t
St. Ann 63074, 10633 St. Charles Rock Road . .. 5 »
ARIZONA: RHoRrlic 85013, 4501 North 7 Avence. .. i St. Ann 63074, 10933 St, Charles Rock Road (Sales only). 1314 2912772
ARKANSAS: Little Rock, 72201, 519 West Seventh Streel . 5728040 St Louis 63110, 6155, Vandeventer Ave. (Service only) 314 6332210
CALIFORNIA: Anaheim 92602, 1235 So. Euclid Ave. 772-4050 St. Louis 83110, 615 S. Vandeventer Ave. (Sales only) A1% 2312pe
Fresno 83710, 5412 North Blackstona Avenus . 350870  NEBRASKA: Omaha8102,2218 Leavenworth Street 402 3452330
Los Angeles 80007, 2432 8. Broadway 7490371 NEWJERSEY: Cherry Hill 08034, 1444 E. Marlton Pike . L6090 428.2822
Orange 92688, 822 Town and Couniry R 5477667 Paterson (Little Falls| 07424, Rt. 46 East,
Riverside 52508, 4010 Merrill Ave 7679700 t Lower NOICR Rd. .. ...............201 2569373
Sacramento 95814, 1915 Seventeenth Street. 444.3188 Union 07083, 2305 U. S. Highway 22 West ... o 11201 8847040
San Diego 82105, 3811 EI Cajon Blvc. 2603331 (1 Block West of Flagship)
?"«Lecasn ""’é‘é?.’o”é%f"ff ;:E“" S.; g:?;ség NEWMEXICO: Albuguerque 87107, 2812 Candelaria Road N.E..... . 505 345-2503
anta Clara © Alame ¥ _
S.San Francisco 94080, P.0. Box 251, HSSAlrpnrx Bivd. Arivavs,  NEWYORK Mbeny (Latan] 12110, S8 Tic) SonRn e B A i
Jealue i oD Aoy TELSS Qoo Naok 11021, 98 Cuttermil Ad. Ssios oniy). 99504
Jeptovnatizo 42 Noly st Avenua 396288 e York 10010, 50 West 23rd Strest {Manhattan) 9296450
COLORADO: Denver 80219, 1171 South Federal Boulevard . 922:8325 New York 11277, 66-15 Queens Bivd. (Woodside) 51042
CONNEGTICUT: Bridgeport 08603, 1055 Lafayette Gircle. 3683419 g:;“;‘s‘j;3:&?02‘9;;‘9?“8:%’:{f&‘ﬁg“’;" ﬁ‘dgj:‘igsg
Weathers{leld 06104, 622 Silas Deane Highway R e e O e R poie )
DISTRICT OF COLUMBIA: Washington Yonkers 17010, 2347 Central Park Avenue . 0 . 7793810
Bladensburg, Maryland 20710, 4501 Baltimore Ave. . 779-3808 NORTH CAROLINA: Charlotte 262085, 3007 E. \ndepsnusnce Blvd . 704 374-1779
Falis Ghurch, Virginia 22046, 129 Annandale Road 5331147 " Greensworo 27407, 3716 High Point Roa 9
Rockvilie, Maryland 20852, 1020 Rockile Pike. 3407377 Raleigh 57604, 2420 Atlantic Avenue

FLORIDA: Jacksonville 32205, 920 Cassat Avenue .. . ..
F1. Lauderdale 33311, 799 E. Oakland Park Boulevard .
Miami 33168, 12345 N. W. Seventh Avenue
Orlando 32803, 3807 East Colonial Drive
Tampa 33609, 3432 W. Kennedy Bivd.. .

GEORGIA: Atlanta 30313, 316 Techwood Drive, N.W.
Atlanta 30354, 3271 Hamiiton Bivd., S.W. (Sales only]

HAWAIL: Honolulu 96813, 675 Auah| Street

ILLINOIS: Chigago 60101, Addison, 1710 W. Avmv(age()ouvt.
Chicago 80645, Lincalnwood, 6710 N. Crawlord Ave.

904 7812253  OHIO: Cincinnati 45241, 2310 E, Sharon Rd..
- Cleveland 44113, 3301 Detcoit Ave. ... .
Columbus 43227, 3975 E. Livingslon Ave. .
Dayton 45408, 2838 South Dixis Drive.
Toledo 43607, 3231 Dorr St. ... ...
OKLAHOMA: OKlahoma City 73108, \31Blevoad ivd. 405 2327515
Tulsa 74145, 3120 South Sheridan Road . 918 8225666
OREGON: Portiand 97209, 1640 N.W. Johnson Strest. ... ... 503 2288631
PENNSYLVANIA: Allsmown (Whitehall) 18052,
42 MacArthur Rd
Harrisburg 17112, 6070 Anumown Bivd.

‘419 5318021

404 6688953

=
g
8
@
g
3
8
&

. 312 261-8830 .. 215 4359544

717 5450851

Chicago 60453, Oak Lawn, 6343 West 95th St....... - _|.. ., ..312 4237212
e B o e e e 312 827.0083 e i et Z‘S‘ﬁ?\m;t ‘55( eri o
Des Plaines 60018, 1277 South Elmnhurst Rd. 3645220 Pittsburgh 15232, 5437 Baum e, 412 2622700
Rock Island 61201, 725 30th Street 7881744 Wayne 13087, 125 Strafford Am“e
INDIANA: Evansville 47710, 307 First Ave., Crescent Center . 425-4268 Strafford Building 3 (Sales only). . . 215 6880267
Hammond 46323, 7103 Kennedy Ave... 8455100 RHODE ISLAND: E. Providence 02914, 2777 Pawtucket Ave. . 401 434-1655
146224, 5899 G 7 2438308 gouTHCAROLINA: Greenville 20601, 407 Pendieton St. . . .803 2323038
IOWA: Des Moines 50312, 2811 Ingersoil Ave. 2447257 TENNESSEE: Knoxville 37917, 4110 North Broadwa‘/ -615 688-0921
KANSAS: Wichita 67213, 155 S. West Street . 9431271 Memphis 38116, 1085 East Brooks Rd.. 201 Szl

Nashville 37211, 4811 Nolensville Road . .615 8338277
TEXAS: Amarillo 79106, 3008 West 6th Ave. -
Dallas 75207, 1808 N. Industrial BIvd. (Service only)
Dallas 75247, 7701 Stemmons Freeway (Sales only)
E| Paso 79925, 1400 Magruder Street ... .

KENTUCKY: Louisville 40213, 4624 Preston H\gnway 502 3661495

LOUISIANA: Metairie (New Orleans) 70002,
3504 N. Causeway Blvd.

MARYLAND: Baltimore 21211, 203 West 28th Street.

...B06 3731531

.24 7416401
.214 8306021
.915 7789769

.504 8372550

Fort Worth 76103, 1801 Bomar Street . 817 336:0175
Eﬁ;{;"“":.ﬁ;ﬁ&? mZDE“:ma” g Houston 77022, 536 E. Tidwell Rd. 8927111
Rockville 20852, 1020 Rockvilie Pike. . g San Antonio 76201, 500 Culebra Avenue .. . 732-1221
Towson (Balto,)21204, 701 East Joppa Rd. 8282610  UTAH: Salt Lake City 84115, 1541 S. Third West Stree . 4865828
VIRGINIA: Falls Ghurch 22046, 129 Annandale Road 5331147
MASSACHUSETTS: Boston (Brighton) 02135, 12 Market L. 7826284 e ol sl
MICHIGAN: Detroit 4821, 18138 W. McNichols Rd 534-8880 Riehmond 23222, 1424 Ghamberlayne Ave. 649.9245
Delrol Eas 48234, 11360 East Soven Mile R .. 5275010
WASHINGTON: Seattle 98109, 701 Third Ave., N. 2826432
Flint 48804, 64085 Gllo i 1R9191 ‘Spokane 99207, 3550 North Market Street . 4809164
ran s 49500, Sodd 35, Sreat, South Esst | T T e i B b
Southfield 48076, 21411 Civic Center Drive (Sales only] 353-3480 OB ‘;“‘;’v" Tl 53227X10903W o .c‘o! pdoml o
ncoln 2
MINNESOTA: Bloomington (Minneapolis-St. Paul) 55420 ISCONBING MRk IWRRTAIISY
9712 CarfieldAve. ........covvuiinin,s 612 884-8191

AUTHORIZED SERVICE STATIONS

ILLINOIS (Continued:

) NEY YORK: Bay Shore,Turnive Applsnce Serie ofSufalh .
Jofiet, R & A Electric Senice, Inc.

ALABAMA: Andal TIPVlES ly Co-
susi Tegor Parls & Supply Kingston, Fowler &

untsvilie, Tools, [nc. eoria, Couch & Heyle NORTH CAROLINA: mmu: Huyus& Lunsford Electric Co.
ubll! Truck Pun,i& Power Too! | aumch Richards Elvctnc Motor Co. Elizabeth City, Miles Jennings, inc.
Mid-State Electric MomrSewme ockford, Machiaist Tool Co. NORTH DAKOTA: Fargo, Acme Weldm Supply Co.

me
i, Ragema Esctic o Spinghla, James Machirery
Uscaloosa, Hectric Motor 4 Sup NN ERfr, Dt s Too R OH%":’kf:;“;umg'fv'j“s‘::uﬂ"fgqﬁgf’g
ALASKA: Anchorage, fero Samcesﬁomnany ajne,

Fatbants, Aero Semices Com o o Steel (:eamn Ine e o e S
ARIZONA: Tucson, Electric MulurCompany Cedar Rapids, Janda Elects Columbus, Arlington Service Center
ARKANSAS: Ft. Smith. H. Prack Tooi & Equipment "3“”9"" Tdusia Egineening Eqipmert o Youngstown, Mol-aster Power Tools, Inc.
Jonesboro, Arkansas Indm"a\i\!tlncswulyta Ine. KENTUCKY. Bowling Green, Covington E'“‘”‘ 5”'““3 OREGON £u ene, Keith's Electric Motnr&TnuJ G
Russetivile, Al-Ark lec Lewngton, Lexington Industsial Servic 3 Regmong Industrial & Tool Sup

Bivencharo, Gweasboro Armatore Works, i

wﬂfm".é“?,";f'?g,;f&fg"‘T”"‘ s LOUSIANA: ot Rouge, Bolon RﬂugeE\zﬂucMmul Service PE&ﬁ,&ﬁ“@JQﬁ E".iér"n“é‘n‘fc“w"‘é%“v‘
anan.slaus Electric Eﬂ‘mm Ha::rgg c?eli?}.us 3 %echzmc;bmg Pg«e«tr qn‘n s Servi e
f;’c";{{,%, Soctic ol 1 Mo Reaic Shicvepor, Car Pans nemMeFms;mu nc. R“g‘,{‘%m'gﬁ‘"“ ot Mote e, e

MALNE: Bangor, Wilkes-Barre, Scnwabilettnc

e Works
codland Hil, Speecy App: N, Brags & Sons
o0 e e e, SHigE Westbraok, Sultz Electric Works

COLORADD: . Collin, Osborn Harcware Co.
CONNECTICUF: New Haven, New Haven Electric Machine Co.
FLORIDA: Bradenton, Peter W. Eliott 172 Suncoast Repair
t Laudencae, Sie Repar Cener, I
t Myers, ABC Small Foplance ReperenIer
mem hue EqulpmmlS
elbouine, DeLisie's Hatd:
emitt Istand, U-Rent-It, \ncarp
ensacola, Blectric Motgr gervce, nchenoted
allanzssez Van Brunt
GEORGIA Augsusta  Austa M . Su?plyﬂn
Solumbus, Sl Gy FeincCo
et e
avannah, Georgia Supply Compan
Sarannan. Wite Hardate
HAWAIL Hilo, Hawail mm il
Kahului, Baui Power
Kanai Appliance & ot Servces, Inc.
0: Boise, Boise Ignition Company
\daho Falls, Christensen Electric Motors.
Lewiston, Wade's Saw & Tool Service
ILLINOIS: Arcola, S & K Rigging Corparation
Bloomington, ElectncM n&!n!vrﬂqmmny
Bradley, Arthur Motor Work
Becata il Indust Sugnlyﬂo
Service:

MASSACHUSETTS: Springfietd, Utiity Electric Service, Inc.
MICHIGAN: Petoskey, PE\D!hEy Electsic Motor Service
M\NNESGTA Dndge Centes
Soutl nesota Machmevysales
Balty oo S Equipment
MISSISSIPPI: Dblumms E(ecmc Maotor Sales & Service
Greenvlle, V& G
Gulfport, Wizzard Szm:e Center
Jackson, Flannigan Electric Ca., Ino
MISSOUR: Sprn e Hectic Mot Seryice & Supply
Springfield, Mi i Air & Electric Company
MONTANA: Blhmgs T:d sE!eﬁr :Semca
Great Falls, Mosch Electric Mntnrs Inc,
Kalispel, Treasure State Ele
Missoula, Electro Service Center
NEBRASKA: Lincoln, meuln Tm\ Center
Narth Platte, Knapp Elect
NEVADA: Las Vegas, Tool Semces Inc.
feno,Landa Qectic Compary
NEW JERSEY: Newark, Able Portable Electric Tool Co.
Trentan, Lockwood's El!cmc Motor Service
Trenton, DeSantis Enterprises, Inc.
NEW MEX[CO Clovis, Cruwn Electric Company
Farmington, Noel's fnc.

SOUTH CAROLINA: Charfeston, Charleston Supply Company
Charleston, Delta Industrial Electric Company, In
Colurmbia, Mann Electric Repair Camgiany

SOUTH DAKOTA: Ha&ld City, Industrial Eiectric & Supply Co.
Sioux Falls. Stan Houston Equipment Company

TENNESSEE; Chattanoogs, Dixie Industrial Seruice, Inc.
Jacksan, Toal Service

TEXAS: Austin, Hamilton Efectric Works.

rial Eleciric Motor Service
Corpus Chnslv lmlh Shields E?e:lnc Works
Harlingen, Lewis Electric Motors, Inc.
bk pderson Young et m
Gdessa, Electric Service Supply Compa
0 el Western Lct Hator Tompany
Wichita Falls, Wesbrooks,

VERMONT: S. Burlington, Buvl-nzmn Rent-All

VRGINIA oot The 6. Wil oy, 10
Roanoke, Lloyd Hlec

SASHIRCTON. Fenont, PawerTun\ Service
Tacoma, Ajax Electrc Company, inc.

WEST VIRGINIA: Wheeling, Horwood Armature Repai Co

HISCONSIN:Grean By, Power Tl SericeCompany
Madison, Richard £. Ela Comp:

WYOMING: Casper, Casper S vl
Relance, Don's Pipeline Service

Effingham, Hoelscher Sales

See'Tools-Electric’
—Ysllow Pages—|

Black s Decker. and are
registered trademarks of The Black
and Decker Manufacturing Company,
Towson, Maryland 21204 U.S.A.

for Service & Sales

IMPORTANT! IMPORTANT!

To assure product RELIABILITY, repairs, maintenance and adjustment, should be performed by Black & Decker

Service Centers or other qualified service organizations, always using Black & Decker replacement parts.

HOME & COMMERCIAL USE WARRANTY
(A LIMITED WARRANTY)

Black & Decker warrants this product for one year from date of purchase. We will repair without charge, any
defects due to faulty material or workmanship. Please return the complete unit, transportation prepaid to any
Black & Decker Service Center or Authorized DeWalt Service Station listed in your owner’s manual. This warranty
does not apply to accessories. This warranty gives you specific legal rights and you may have other rights
which vary from state to state. Should you have any questions, contact your nearest Black & Decker Service
Center Manager.

DeWALT DIVISION
BLACK & DECKER (U.S.) INC.—LANCASTER, PA. 17604, US.A.

Form No. 724758 8 (JAN79-CD) Printed in US.A.




